
Jumbled Sentence
for

Each of the following items consists of a 
sentence-parts of which have been jumbled. 
These parts have been labelled as P-Q-R-and S. 
Given below are four sequences: (a)-(b)-(c)-and 
(d). Re-arrange the jumbled parts of the 
sentence and mark your response accordingly.
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Directions: In the following items, you are required to select the most 

appropriate voice of the given Bold phrase and mark your response 

from the options that follow.



Questions 1
Change from Active to Passive: 
"The government must implement robust data protection laws."
(a) Robust data protection laws are a must to implement by the 

government. 
(b) Robust data protection laws must be implemented by the government. 
(c) Implementing robust data protection laws is a must for the government. 
(d) The government should have implemented robust data protection laws. 



Questions 2
Change from Passive to Active: 
"The economic survey was released by the Finance Ministry."
(a) The Finance Ministry had released the economic survey. 
(b) The Finance Ministry released the economic survey. 
(c) The economic survey is released by the Finance Ministry. 
(d) The releasing of the economic survey was done by the Finance Ministry. 



Questions 3
Change from Active to Passive: 
"Scientists are studying the long-term effects of the pandemic."
(a) The long-term effects of the pandemic have been studied by scientists. 
(b) The long-term effects of the pandemic are being studied by scientists. 
(c) Studying the long-term effects of the pandemic is being done by 

scientists. 
(d) The pandemic's long term effects are being studied. 



Questions 4
Change from Passive to Active: 
"The treaty was signed by representatives of both nations."
(a) Representatives of both nations had signed the treaty. 
(b) Representatives of both nations signed the treaty. 
(c) Both nations signed the treaty through representatives. 
(d) Signing of the treaty was done by representatives of both nations. 



Questions 5
Change from Active to Passive: 
"The opposition parties have criticized the new agricultural reforms."
(a) The new agricultural reforms are being criticized by the opposition 

parties. 
(b) The new agricultural reforms have been criticized by the opposition 

parties. 
(c) Criticism of the new agricultural reforms has been done by the 

opposition parties. 
(d) The new agricultural reforms are criticized by the opposition parties. 



Questions 6
Change from Passive to Active: 
"Social inequality is exacerbated by systemic discrimination."
(a) Systemic discrimination exacerbates social inequality. 
(b) Systemic discrimination is exacerbating social inequality. 
(c) Exacerbation of social inequality is done by systemic discrimination. 
(d) Social inequality has been exacerbated by systemic discrimination. 



Questions 7
Change from Active to Passive: 
"The government should address the issue of unemployment urgently."
(a) The issue of unemployment should be addressed urgently by the 

government. 
(b) Urgency should be given to addressing the issue of unemployment by 

the government. 
(c) Addressing the issue of unemployment is an urgent matter for the 

government. 
(d) The issue of unemployment must be addressed urgently by the 

government. 



Questions 8
Change from Passive to Active: 
"The report is being reviewed by a panel of experts."
(a) A panel of experts reviews the report. 
(b) A panel of experts is reviewing the report. 
(c) Review of the report is being done by a panel of experts. 
(d) A panel of experts has reviewed the report. 



Questions 9
Change from Active to Passive: 
"The Supreme Court has upheld the constitutional validity of the law."
(a) The constitutional validity of the law has been upheld by the Supreme 

Court. 
(b) The law's constitutional validity is upheld by the Supreme Court. 
(c) Upholding the constitutional validity of the law has been done by the 

Supreme Court. 
(d) The constitutional validity of the law is being upheld by the Supreme 

Court. 



Questions 10
Change from Passive to Active: 
"The impact of climate change will be felt globally."
(a) The world will feel the impact of climate change. 
(b) The world is going to feel the impact of climate change. 
(c) Climate change will have its impact felt globally. 
(d) Global feeling of the impact of climate change will occur. 



ANSWERS1. Answer: (b) 
Explanation: This correctly uses the modal passive "must be 

implemented."
2. Answer: (b) 

Explanation: This is a simple past passive, correctly converted to 
simple past active.

3. Answer: (b) 
Explanation: This is present continuous active, correctly transformed 

to present continuous passive.
4. Answer: (b) 

Explanation: Simple past passive converted to simple past active.



ANSWERS5. Answer: (b) 
Explanation: Present perfect active converted to present perfect 

passive.
6. Answer: (a) 

Explanation: Present simple passive correctly turned into present 
simple active.

7. Answer: (a) 
Explanation: Modal active ("should address") correctly transformed 

to modal passive ("should be addressed").
8. Answer: (b) 

Explanation: Present continuous passive correctly transformed to 
present continuous active.



ANSWERS
9. Answer: (a) 

Explanation: Present perfect active correctly transformed to present 
perfect passive.

10. Answer: (a) 
Explanation: Future simple passive changed to future simple active. 

While (b) is also grammatically correct and conveys a 
similar meaning, (a) is a more direct and concise active 
voice transformation of the original passive sentence.


